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Determine undamped natural frequency, damping ratio, Maximum overshoot, Peak

time and settling time.
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For the closed loop transfer function when the input is unit step
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A unity feedback system is characterized by open-loop transfer function

1 . . .
G(s) = 0 . Determine steady state errors for unit step, unit ramp

s?(1+0.4s)(1+0.3s)
and unit parabola

Solution:

Unit step:
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Unit Parabola
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Determine the range of K for stability of unity feedback system whose open loop | 10 | CO3 | L3
transfer function is G(s) = ————— using Routh Hurwitz criteria
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Sketch the root locus of the system whose open loop transfer function is
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Solution;

Determine the transfer function from the given bode plot. 10 |CO4| L3
/
W=l Wy i
odb 17’ 13
| |
IZOA\D/A@(J | )’Odb/déc
2Lt T - -
Solution:
Cotnes f~eguencies
o A, -/.
We, >l D = B =l
wWe,zlo = L -1627, 20
Ty o
l’\%s: |oo '—}).—%5—:/00:97:5:0.0/
lAjLL} = Jooo :;_%_L_,:/aoo:;?; Z0-00).
= K lrois) froors)
(/7"5) (/7‘0»0‘99
w/o@ K=0-
s [ ( ) (+0 /.Q
. [Fa=lS ) (JT0 o
; m, he=C =~ ———
) ‘7—'1{611\_5}()/ J;"‘V‘CIL’ ) C/+-9(/+D'Do_ly
Determine the frequency domain specifications for the unity feedback system 10 Co4 | L3
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